Esercizio 1.11.1 Semplificare le seguenti espressioni:

a) ?/F,xzo; W,xe[l%; W,xE[R; W,xeR;

b) W,x>0,a€l]%; E'x3a,x>0,a€[|§2.

Esercizio 1.11.2 Risolvere le seguenti disequazioni:

a) 1< x12 <32 e) \V2— x| < x: i \/ﬁz@; ) 3—x2x2— 12
R D Vi-Rz1-x D Vx+3+3x+3<2 RASE S

&) 1 < xl%=< 32:
= Vx| -3<x-1; o — e e
g) Vx| ) x—2<VEZTL n) v-3x—x +x
d) V2-|x|>x;
) Il = oyl =L = pre=nl

0) V1-2x+4/5—x>6.



1111 (a) Vx, 33 [x]% x> (b) x22,/x@

1.11.2 (a)x €(1,1024] (b)xe€(1,2] (©)xe[-V2,-DU, V2] D xe[-2,1] (e)xel,2]
) xe[3-1417,3] (@x€[3,+0) (h)xe[l,3-1/5lU[3+1y/5,+0) Dx=2 (Pxe[-3,-2]
K)xeER ()xe(—0,—-2v3] (m)x€(—0,—2] (m)x€[=3,0] (0)x€E (—co0,—4)



